Chapter 1 - Selected Answers “Evens” 


p.1
Pre-Course Test (p.xviii)

Decimals

1. 9.405  2. 9.68  3. 323.979  4. 11.2

Factors & Multiples

5. 4  6. 6  7. 27  8. 50  9. 42  10. 30  11. 456  12. 36  13. 10  14. 56  15. 36  16. 160

Fractions
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Fractions, Decimals, and Percents
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Comparing & Ordering Numbers
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Perimeter, Area, Volume

57. 77 ft  58. 18.8 cm  59. 169 yd2  60. 34.65 km2  61. 6859 m3  62. 60.888 in3
Data Displays

63. (Use a bar graph or a circle graph.)

Measures of Central Tendency

64. 4.8, 4.5, 3  65. 55, 54.5, no mode  66. 11.9, 11.5 and 12  67. 351.7, 372, no mode

Pre-Course Practice (p.xx) – Evens

Decimals
2. 10.997  4. 66.87  6. 3.64  8. 19.152  10. 0.00513  12. 5.1  14. 26
Factors & Multiples

2. 1, 41  4. 1,2,3,6,7,9,14,18,21,42,63,126  6. 
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  8. prime  10.  1,2,3,4,6,12

12. 1,2,3,4,6,12  14. 5  16. 6  18. 27  20. 2  22. 40  24. 24  26. 70  28. 330 30. 24  

32. 30  34. 143  36. 520

Fractions

2. 16  4.
[image: image8.wmf]7

25

 
[image: image9.wmf]7

1111

25494

6.8.10.12.14.16.9


[image: image10.wmf]335

1111

45853212

18.20.322.424.26.2028.

  

Fractions, Decimals, and Percents
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Comparing and Ordering Numbers

2. 907 < 971  4. -49.5 < -49.05  6. .0394 < .394  
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p.2

Perimeter, Area, and Volume

2. 35 in  4. 48.2 cm  6. 2.7889 yd2  8. 75 cm2  10. 324 m3 

Data Displays
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Measures of Central Tendency

2. 15.8, 16, {15,16}  4. 49.9, 52.5, {45,53,55}
CHAPTER 1

Section 1.1 (p.6)

2. s  4. r, t  6. 5 divided by c, 
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  8. 5 plus n, +  10. 14  12. 21  14. 6  16. (a) 24 cm (b) 36 in

18. D  20. A  22. 
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  24. 3  26. 48  28. 1  30. 39  32. 7  34. 150 mi  36. 4 km  38. 1350 mi  

40. 31 ft  42. 60 in  44. 30 mi2  46. (Estimates may vary) 
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 120,00 mi2 (exactly 99,550 mi2)

48. 240 mi  50. C  52. 28.8  54. 5  56. 10  58. 6.8  60. .14  62. 123.83  64. .414  66. 3.10999

Section 1.2 (p.12)

2. exponent  4. parentheses, brackets  6. C  8. D  10. 28  12. 144  14. p2  16. b8  18. (4x)3  
20. 81  22. 343  24. 625  26. 1000  28. 144  30. 81  32. 121  34. 262,144  36. 1,953,125

38. 46,656  40. 81  42. 69  44. 1  46. 98  48. 63  50. 64  52. 196 ft2  54. 857.375 in3 

56. 33, 27 cubic units (u3) 58. 108 in3  60. sample answer: Cube with a 5 inch side. Volume is 53 = 125 & 125 > 108 in3 (see problem #59) 62. H  64. 12  66. 15  68. 27  70. 28  72. 77  74. 21  
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88.
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Section 1.3 (p.18)

2. the left-to-right rule  4. 2  6. 128  8. 6  10. 72  12. 42  14. 23  16. 40

18. 11  20. 40  22.
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  24. 40  26. 18  28. 13  30. 17  32. 11  34. 22  36. 2  38. 2  40. 128  

42. B  44. A  46. Neither answer is correct  48. $28,975  50. 48 units2  52. $14+$5+$8, $27

54. B  56. B  58. 32  60. 27  62. 63  64. 122  66. (2b)3  68. 343  70. composite 1,3,5,15  

72. prime  74. composite 1,2,23,46  76. composite 1,2,4,8,16,32,64

Section 1.4 (p.27)

1. equation  2. expression  3. expression  4. equation  5. inequality  6. inequality 7. solution

8. solution  10. solution  12. not  14. solution  16. solution  18. not  20. solution  

22. solution  24. not  26. solution  28. solution  30. not  32. not
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p.3

34. 5  36. 33  38. 4  40. 20  42. 14  44. 19  46. 40  48. 7  50. 25  52. solution  54. solution  
56. not  58. no  60. (a) 12 (b) 5 (c) 36  62. F  64. 31  66. 48  68. 35  70. y4  72. 123  74. 17  

76. 63  78. 10  80. 16  82. 30  84. .26  86. 15.3  88. 32.658  90. 27.0

Section 1.5 (p.33)

2. 7-n 4. D  6. C  8. 7y = 42  10. x – 3  12. 5 + x  14. 4x  16. 15 + x  18. x – 6  20. B.  22. A

24. x+20=30  26. 18 – x = 6  28. 13x > 60  30. 
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 32. x + 10 = 15, 5  34. 25x=100, 10

36. 
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  38. 36 mi2, 23,040 acres  40. A  42. 1000 ft3  44. solution  46. not  48. 0.25

50. 0.22  52. 0.9  54. .0651

Section 1.6 (p.39)

2. verbal  4. B  6. ‘Walking speed’ time ‘time to walk home’ equals ‘distance to home’.

8. 4t = 1  10. Walking. Although the subway takes much less time, you have to wait 12 minutes for the next train. So it will take 20 minutes by subway vs only 15 min. walking.
12. original length = x(ft),number of days = 31,growth rate = 1(ft/day),total length = 50(ft)

14. 19 ft  16. ‘Number of weeks worked’ times ‘amount saved each week’ equals ‘price of stereo with the CD.  18. 8m = 480  20. 8(60) = 480  22. A  24. 47  26. 16  28. 35  30. not a solution  32. solution  
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Section 1.7 (p.45)

	Player
	1
	2
	3
	4

	Round 1
	90
	88
	79
	78

	Round 2
	94
	84
	83
	80

	Average
	92
	86
	81
	79


2. tables, bar graphs, line graphs, circle graphs  4. true         6. 8. 
	Year
	1980
	1985
	1990
	1995
	2000

	Enrollment
	18,199
	17,732
	16,697
	18,922
	20,500


10. No. Enrollment decreased from 1980 to 1985 and from 1985 to 1990. It increased from 1990 to 1995 and 1995 to 2000.

12. No. For example, the braking distance for a car going 50 mph is about 3 times the braking distance for a car going 25 mph.
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p.4

20. B  22. A  24. 32 m, 48 m2  26. not  28. solution  30. solution  32. solution  34. solution  

36. <  38. <  40. <  42. >  

Section 1.8 (p.51)
2. domain  4. 77, 89, 101, 113, 125, 137  6. 77,98, 101, 113, 125, 137
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16. Yes, since there is exactly one output for each input. (No ‘x’ used twice.)

18. Yes (see explanation above)

20. 44.5, 89, 133.5, 178, 222.5, 267  22. all positive numbers  

24. (a) R = 
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26. 
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  28. F  30. 8  32. 34  34. 75  36. 9 – n  
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Chapter Summary and Review (p.55)

2. 36  4. 5  6. 30  8. 12 miles  10. 41 ft  12. 84  14. 55  16. 15,625  18. 1  20. 8  22. 2  

24. not a solution  26. not  28. 8  30. 8  32. 4  34. 
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  36. 8x > 5  38. ‘Cost per bottle’ times ‘number of bottles’ equals ‘Total Cost’.   Equation: .75b = 75 hence 100 bottles.
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Chapter 1 Test (p.59)
1. 40  2. 3  3. 44  4. 5  5. (5y)4  6. 93  7. 6n  8. 
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  13. y – 3 

14. 8 – s = 4  15. 9 < t  16. false  17. false  18. true  19. true  20. false  21. true  22. 112 

23. “The total cost of the material is equal to the number of flags times 0.6 square yards per flag time $2.00 per square yard.”  24. $24.00
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 26. cat
Chapter 1 Standardized Test (p.60)
1. A  2. D  3. A  4. C  5. A  6. C  7. B

Maintaining Skills (p.61)
2. 1.4  4. 8  6. 4.17  8. 6.03  10. 20.59  12. .99
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